Title: Towards a "hydrodynamic" approach to density matrices in quantum chaotic systems

Date: Mar 07, 2017 02:30 PM

URL: http://pirsa.org/17030054

Abstract: $\langle p \rangle$ We study the eigenstate thermalization hypothesis in chaotic conformal \ddot{n} -eld theories (CFTs) of arbitrary dimensions by computing the reduced density matrices of small size in energy eigenstates. We show that in the $in\ddot{n}$ -enite volume limit this operator is well-approximated by a $\hat{a} \in \alpha$ universal $\hat{a} \in \bullet$ density matrix which is its projection to the primary operators that have nonzero thermal one-point functions. These operators in all two-dimensional CFTs and holographic higher-dimensional CFTs are the polynomials of stress tensor. We compute the time-dependent two-point correlators and Renyi entropies of the universal density matrix, and compare the results to the thermal Gibbs state and black holes in various dimensions. We demonstrate that the two-dimensional universal density matrix is close in trace distance to the reduced Gibbs state. We put forward the truncation of density matrix to the stress tensor sector as a $\hat{a} \in \alpha$ -hydrodynamic $\hat{a} \in \bullet$ method to study the out-of-equilibrium dynamics of strong-coupled \ddot{n} -eld theories

"("Hydrodynamic" p effective field theory > Regim of interest > \$ 1) Hydro. Universal d.o.S. > { 2) Hydro. to wave functional (reduced dowity matrices) Quantum Information ' Chaotic Eigenstate Thermalization Hype (ETH) Quantum Field Theories OF CFT Jul Plan. D) Study ETH in (FT 1) 2) thuma limit 4) PYP= with Hong Lin 1610,00302 Tolya Dymonsky 1703, XXXXX

effective field throug. Regime of interest _> SI) Hydro. Universal d.o.S _> SI) Hydro. to wave functional (nedward density matrices) Quantum Information " Eigenstate Thermalization Hype (ETH) Quantum Field Theories OF CFT dtl Plan. D) Study ETH in (FT 41) 2) thuma limit 4) PYP Tolya Dymonsky



Unic $A_{\text{themel}} = \left\{ O_p \text{ s.t. } tr(O_p e^{-BH}) - tr(e^{BH}) \right\}$ $\begin{array}{c} \mathcal{F}_{T_{d+1}} \\ \mathcal{C}_{FT_{2}} \\ \mathcal{L}_{2} \\ \mathcal{L}$

 $\begin{array}{c} \left\langle E_{a} \middle| \begin{array}{c} Q \middle| E_{b} \end{array} \right\rangle = O_{p}(E) \begin{array}{c} \delta_{ab} + O(e \\ \hline \\ E = \underbrace{E_{A} + E_{b}}_{2} \\ \text{Weakest} \\ (Local = T_{H}) \end{array} \right\rangle = \left(\begin{array}{c} FT_{d+1} \\ \langle \Psi_{a} \middle| \begin{array}{c} Q \middle| \left(\Psi_{b} \right) \\ \langle \Psi_{b} \right) = \\ \langle \Psi_{b} \middle| \begin{array}{c} Q \\ P \\ D \end{array} \right) = \left(\begin{array}{c} -h_{p} \\ H_{b} \\ D \\ D \end{array} \right) \\ \end{array}$ $\int_{0}^{\frac{n_{1}}{d+1}} f_{0} + O(e^{-stek})$ haily -00

$$\begin{array}{c} (F_{E_{a}} | \mathcal{G}_{b} | \mathcal{E}_{b}) = \mathcal{O}_{p}(\mathcal{E}) \delta_{ab} + \mathcal{O}(\mathcal{E}^{-S(E)}\mathcal{E}) \int_{U} \mathcal{C}_{b} \mathcal{E}_{b} = \delta_{ab} \int_{u}^{h} \int_{u}^{d} \mathcal{E}_{b} \mathcal{O}_{c}^{-S(U)}\mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{U} \quad (\mathcal{F}_{c} \mathcal{I}_{a}, \dots, \mathcal{E}_{b}) \int_{u} \mathcal{C}_{b} \mathcal{E}_{b} = \delta_{ab} \int_{u}^{h} \int_{u}^{d} \mathcal{E}_{b} \mathcal{O}_{c}^{-S(U)}\mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{U} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u} \mathcal{E}_{b} \mathcal{E}_{b} = \int_{u}^{h} \mathcal{E}_{b} \int_{u}^{u} \mathcal{E}_{b} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{b} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{b} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{c} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{c} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{c} \mathcal{E}_{b} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{c} \mathcal{E}_{c} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{b}) \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{b}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \int_{u}^{u} \mathcal{E}_{c} \mathcal{E}_{c} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \quad (\mathcal{E}_{c} \mathcal{I}_{a}) \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \quad (\mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \quad (\mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \quad (\mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} \mathcal{E}_{c}}_{u} \\ \mathcal{E}_{c} = \underbrace{\mathcal{E}_{c} = \underbrace{\mathcal{E}_{c}$$

hi C'ab = dab tha fp+ weakest (1 ord ETH) (1 ord exit) = 1 ord (1 ord ETH) (1 ord ord ord ord) (1 ord ord ord ord ord) (1 ord ord ord ord ord) $(1 \text{ ord} \text{ o$

 $C_{ab}^{P} = S_{ab} f_{a}^{P}$ $\overline{O}_{ab} = tr \left[E_{a} \right]$ $B^{C} = S_{ab} f_{a}^{P}$ - hp weakest (Local ETH) Strongest form (Subsystem ETH) $V = O(\frac{p}{L})$ $\langle \Psi_{a} \rangle$ (la $1) \| \psi_{q}(x_{1}) - \psi_{uni}(x_{1}) \| = 0$ $2) \| \nabla_{qb} e^{ix} + \nabla_{bq} e^{-ix} \| = 0(\frac{1}{2})$

941 $O_{ab} = tr$ - hp Weakest (Local ETH) Strongest form (Subsystem ETH) $\langle \Psi_{a}$ ab CFTd+ =0(2) ETH $\frac{1}{2} \| \varphi_{qb}^{2}(\varphi_{1}) - \psi_{un}^{2}(\varphi_{1}) - \psi_{un}^{2}(\varphi_{1}) \| = 0$ 2)





$$\begin{aligned} E_{XI}: (FT_2 \\ t_r(Y_{n,r})) &= \left(\left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} \frac{k}{d_{k}} - \sum_{k} \right) \times h_{k} \right) \times h_{k} \\ &= \left(\sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} \frac{k}{d_{k}} - \sum_{k} \right) \right) \times h_{k} \\ &= \left(\sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \right) \right) \times h_{k} \\ &= \left(\sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \right) \right) \times h_{k} \\ &= \left(\sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \right) \right) \times h_{k} \\ &= \left(\sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{1\pi} \gamma_{k}^{-1} + \sum_{k \in \mathbb{N}} \left(\sum_{k \in \mathbb{N}} \left$$

$$\begin{aligned} E_{XY}(FT_{2} + t_{r}(Y_{0}, ...) = \left\langle \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{k \times \lambda_{r}} \right)^{2k} \frac{k}{d_{k}} \cdots \right)_{k} \right) \times h_{k} \xrightarrow{(k)} \right\rangle \\ = \left\langle (T_{2k}, ...) = \left\langle \left(\sum_{k \in \mathbb{N}} \left(\frac{2U}{k \times \lambda_{r}} \right)^{2k} \frac{k}{d_{k}} \cdots \right)_{k} \right) \times h_{k} \xrightarrow{(k)} \right\rangle \\ = \left\langle T_{2k} = \left\langle T_{2k} \right\rangle \xrightarrow{(k)} \left\langle T_{2k} \right\rangle \xrightarrow{(k)} \left\langle T_{2k} \right\rangle = \left\langle T_{2k} \right\rangle \xrightarrow{(k)} \left\langle T_{2k} \right\rangle \xrightarrow$$

$$Tely = Dymolog = 1703. tree = 1
Tely = Dymolog = 1703. tree = 1703$$

